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Let ABC be an acute triangle, with no two sides equal. Let L be an arbitrary line that 

intersects the respective sides of triangle ABC at points 111 C,B,A . According to the Newton 

Theorem
1
 the midpoints mmm C,B,A of respective segments 111 CC,BB,AA  are collinear. 

That means they define a new line 1L . Circles with centers mmm C,B,A  and respective radii 

|CC||,BB||,AA| mmm  intersect at two points fP  and sP, where index ófô means that fP is 

closer to the orthocenter H of triangle ABC than sP .  We draw fP in green and sP  in red. If 

we repeat this procedure for lines 1000021 L,,L,L 3  we obtain the attractor in Fig. 1, that does 

not depend on the initial line L. 

H

Oh

A B

C

 

Fig. 1 

 

                                                           
1
 Jean-Pierre Ehrmann: http://foru mgeom.fau.edu/FG2004volume4/FG200405.pdf 
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It is interesting that all green points ifP  lie inside the magenta circle with center H and radius 

)|CO||HO(|R 2

h

2

hh -= abs  , where hO  is the midpoint of the cevian
2
 through C and H, 

because for the triangle in Fig. 1 holds abg >>  .  

For an obtuse triangle, the circle with center H and radius )|CO||HO(|R 2

h

2

hh -= abs  is 

part of the attractor, and is orthogonal to the circle with center hO  and radius |CO| h , the 

black circle in Fig. 2. 

 

 

Fig. 2 

                                                           
2
 Cevian: http://mathworld.wolfram.com/Cevian.html 


